2.4 ADDING AND SUBTRACTING DECIMALS

ESSENTIAL QUESTION:

ADDING AND SUBTRACTING DECIMALS
1) Write the numbers ) &% \(.(\\\\} and \.ne &Q_the decimal points.

2) Bring the decimal point shead 3\\\ &ow N .

3)‘%\& A or S u\%m& as you would whole numbers.

EXAMPLE 1
1) Add 8.13 + 2.76 2) Add 1.459 +23.7
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EXAMPLE 2
1) Subtract 5.508 — 3.174 2) Subtract 21.9 - 1.605
Q
35y 2V g g
~ 3, 1YY - \ . G Q S
- -
2433
v TR RS
ON YOUR OWN
Add or Subtract
1) 4.206 + 1085 2) 6.34 - 5.33 3)15.5 + 8.229
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4) 78.41 + 90.00 5) 27.9 - 0.905 6) 18.626 — 13.88
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EXAMPLE 3
Your meal at the school cafeteria costs $3.45. Your friend’s meal costs $3.90. You pay for both
meals with a $10 bill. How much change do you receive?
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The Lincoln Memorial Reflecting Pool is approximately rectangular.
tts width is 50.9 meters, and its length is 618.44 meters. You walk
the perimeter of the pool. About how many meters do you walk?
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Find the perimeter of the triangle.
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